Friday 12th  June 2020
[image: ]SPaG
Spellings – Words with a zhuh ending spelt sure
unsure  
leisure  
measure 
closure 
treasure  
pleasure 
composure   
enclosure   
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Word of the Day –  circular 

Definition ____________________________________________
_____________________________________________________
_____________________________________________________
Used it in a sentence: ____________________________________________________
_________________________________________________________________________
[image: Image result for genie and lamp clipart]Word Class: ____________________________________________________Synonyms











English 
Today you will be following a set of instructions in order to mummify a tomato using processes similar to how a body would be mummified in Ancient Egypt.
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Maths 
Starter
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Remember find the difference tells us we must take away or subtract.
Ted has 95p. Joe has 50p, how much more money does Ted have than Joe. The words how much more tell us that we have to take away 50p from 95p. Ted has 45p more than Joe.
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The Best Thing That Happened Today
Complete this at the end of the day!
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Quote of the Day

‘Be who
you are
and
say what
ou feel,
begausg those
who mind
don’t matter,
and those
who matter
don’t mind.’

Dr Seuss




image8.png
What Am I Worried About?

Things T Am
Grateful for Today

Why Do I Feel This Way? 1

How Can I Ease This Worry?
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Tales of Anclent Eqypt: Explanation Texts Teacher Sheet 24
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Find the difference between 459 and 3,720
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Four operations

(@ ) Motchtheprobiems t0the bor maceh.

Nijoh has £12. Her mum
gives her £3 more.

How much does she
have now?

Nijoh has £12.
She buys a book for £3.
How much does she
have now?

Nijoh has €12. She
shares it between 3 of
her friends. How much
does each friend get?

Nijoh has £12. Her friend
hos 3 times os much.
How much does her
friend have?

b) Complete the bar models.
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© A it ket o the e coss £450
and n ol ke o5 795
e wans t kv how mch more an
s ket o thm a chid' et

Do you agree with Dexter?

1 just need to add £7.95
to £4.50 to find out how
‘much more.

Explain your answer.

ing the total of £23.70 and £34.40

© ity

T can add £23 and £34 together to give
£57 and add 70p and 40p together to

give £1.10 and then combine the two
parts. So the total is £58.10

©

Use Whitney's method to complete the additions.

o) €860+ £7.80 =

b) £11.80 + £9.25





